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senflefl gflefwed / COMPUTER SCIENCE

(50D WHoH <pEdle el / Tamil & English Version)

sray @lera : 3.00 wentl GHrw | o [ Qungs wHibuansdr : 70
Time Allowed : 3.00 Hours | [Maximum Marks : 70

Siiflejsmysen : (1)

Instructions :

Goloy 0

(ii})

Note : (i)

(i)

Smanss dlanssenn sflursl LHTE eeTeTsT 6T eI & 6 €51
sflurisgés @aroreareud. sFaluaila @eoplmUden, iempd

sersTa uTariih 2 et wrad Asfeilése)b.

) Beo @degy soly @ wLHGL  TWEwUSHGED,
S sConyHaushEd LudauBss Cadn(id. LIRSS aueTalsnE
Quéndlad uwaURESaND.

(1) Check the question paper for faimness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blﬁe or Black ink to wrile and underline and pencil to draw diagrams.
u@$ -1 /PART -1
amengg damsaEiEgh e wailssay. 15x1=15

Qar@ésnu Gerer wrpg eleaLsafie Waab epyemu slen_enwd
CoibasDsas @M OLer o lmanyb Gaiby GTPESYLD.

Answer all the questions.

Choose the most appropriale answer from the given four alternatives and write
the option code and the corresponding answer.
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1.

s sa@fluCurdl smewapudd pORboanss ahmser Lwau@ssl g
(1) gpeprid (<) oo (@) prensmb () @ramrd
Which generation of computer used IC’s ?

(a) Third (b) First (c) Fourth (d) Second

1101, -4 flsrren vdlammflene A erg ¢
(@) F (<) D (@) B (%) E
For 1101, the Hexadecimal equivalent is :

(a) F (b} D (cj B d E

ﬂ?aﬁm@mmmmgﬁ]@ org memtawsluliar Lnsh <de ?

(<=1) Caé Hlevarousid (<) sy grems Qewwaid

(®) ulGau (/) s GuurtLsib

Which of the following is not a part of the microprocessor unit ?

~ (a) Cache Memory . (b) ALU

(c) Register (d) Control Unit

eaumassneupiila erg @nenn Lwent GlLise el ?
(=) Linux (<)MS-DOS (@) UNIX () Windows
Which of the following is single u.scr operating system ?

(a) Linux (b) MS-DOS (c) UNIX (d) Windows



A mai@aud DT gl GLDeugmaTa oL aner ?

(<) Edit = Paste (<t,) View — Paste

(&) File — Paste () Cupambly oimemig s
Which command is used to ‘Paste’ ?

(z) Edit — Paste (b) View — Paste

(c) File — Paste (d] All of the above

C1 erénug Gumi whmb C2 srenug Qo eraflér GuesLUHD &L shn a8 ?

1. ifCl

2. S1

3. clse

4, ifC2

b S52

6. else

7. 33

(=4} S2 (<=,) 83

(&) s1 (r) @aupblés ggibldena
If C1 is false and C2 is true, the compound statement
1. iCl

2 S1

3. else

4 if C2

5. 52

6. eclse

¥ 53

executes :

(a) S2 (h) 83

fc) S1 (d) None
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10.

C++ -eow o mauradlweus wr 9

(=) W& Calen (=) emrevey LMGugy
(@) Ggien avl Qremevi g () &g Géams
Who developed C++ ?

(a) Bill Gates (b) Charles Babbage
(¢l  Bjarne Stroustrup (d) Sundar Pichai

C++ -0 arggeman cumswran sreflarmiser o ararar 2

(=) 3 ()5 (@) 2 () 4
How many categories of data types are available in C++ ?
(a) 3 (b) 5 (c) 2 (d) 4

for(int i=1; i<10; i++) eremp IDLEG TEsman wenp QUkIGD ?

(1) 11 ()9 (@) o (r) 10
How many times the following loop will be executed ?

for{int i=1; i<10; i++)

(a) 11 (b) 9 (c) © (d) 10

int x=10;
int main( )
{
int x =100;

cout << i x;

}
CuCw o drar flyedlen Clouafli wrgy ?

(1) 100 (<) x (&) :=x (F) 10
int x=10:
int main{ )

H
!

int x =100,
cout << ;; x;
H

The output for the above snippet is ;

(@) 100 (b) x (e ox (d) 10
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11. Qepoer o @Cr sraflergeonsis Geips wrisaien Arod LHND BTG
e muyseeTyb @G Aurglt Quurré @idde Guain ?

(=) array {=4,) int (@) class (r) float

Which of the following is the collection of variables of the same type that are

referenced by a common name ?

f

(a] array (b) int (€] «class (d] float

12: “@p(paD eSS Lapsnn LI BEHSL" e (Lpad _;ﬁmp(‘éa_ljmuu@mﬁ]mg ?

(<31) wIrHmn (=) srey Wensamie
(@) CQsrEipa (i) pUUeTTSSLD

“Write once and use it multiple time” can be achieved by :

(a) Maodificalion p (b Redundancy
(c) C-:-mpositiﬁn {d) Reusability
3. 3 e é @ (eI Tey g sHUELL Qeudurtenl GlFiw &;F:;G].]I.'D
GewhsmprEi. '
(a-) Inline GFLpegiser (1) B8y e-qUIL|EaET
(@) =y dswhsapiser () @evenmwelfiF Qawihsamise

The functions that perform specific tasks in a class is called :
[a) Inline functions (b) Data members
{c] Member functions (d) Online functions

[ Hmiiys / Turn over



6
14, Spssamaipfer org Q-&u-fé.‘vo:pm,rn.- Ulind whmd i dr AsriymLwg) ?
(@) pés Blrébaar (=) safu@uTdl BerGen

(@) 2feownddwanr BEDTHHLD () Brdser

Which of the following deals with procedures, practices and va.!uw r

(a) Virus _ (b) Computer ethics

(c) Piracy . (d) Programs

15. Seveugpeiarenhe T8l CeR@UTf wsa 2
() i ()@ (8) wren (7)) eagger
Which is not g search engine ?

(a) Andreid (b) Bing (¢) Yahoo (d) Google

UGS - T/ PART -1
GOy : emauCugyb ShII SHlannds(niE eflen wialssey i, Sleunflés eflesm sredr
24 -6@ sLemub el uefbsan, = - 6x2=12

Note :  Answer any six of the following questions. Question No. 24 ig compulsory.

16. gafl muﬁ seiu@urdlsafayn LHmbD eslGua Engamiseflab LemURSS 1L R
Syuewrer @uds DDLU Hwepans sys.

Name same of the popular operating systems used in personal computers and
Mobile devices.

17. (44);, -3 Bmhlenea ereinmrr& LDﬁ'_F_i)QjE.I _

Convert (44}, into Biﬁa.ry number,



18.

19.

20.

21.

22.

23.

24,

Qepsy Lafla@hl eremnme eremen ?

What are called Standard Icons ?

CEdlaperm — euenTUmFsEaD.

Define Algorithms.

@ uflorer eeowu sifelsgn Gsr_fuma TP,

What is the syntax to declare two-dimensional array ?

Gewpdpn uenflflgly stanmmed eremer ?

What is Function Overloading ?

shGELILLL ElansEy gar 858 e T GlendEp ey sG5ILEE DS ?

%y derived class is called Power Packed Class’ ?

TSCII erenmmed sreman ?

What is TSCII ?

Void gy suenauian waSwSgatsdr wirmes 7
What are the importance of void data type ?
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u@d) - I / PART - I
GO0y : asteus Syl eAlermisiani e el uaiseyb. Slaupflé el Tar. 33 -5,
sLLmub 9o waldseyb. 6x3=1g

Note:  Answer any six of the following questions. Question No. 33 is compulsory,

25. Qewarsstu@n srafda esosddar o tuaudd pleT@awal e aimaaee

eflemd(gs.

Explain about classification of Microprocessors based on the Data Width.

26. oreug seoapanuian serawsmars Lml .G,T@QHE-'

Write the characteristics of sixth generation camputers.

27, Case -UGLUML&Y eTemDmed eTemes 7

What is Case-analysis ?

28. Slpuyé Qsrpser eraprd aeaven ? Splys Cerpsaer GHLEUUTseTTS

Lweru(Rdsemor ?

What are Keywords ? Can keywords be used as identifiers ?

29. Geummnis spm LEDID S B& Dy erempmed areies ?

What is a null statement and compound statement ?

30. Switch sapflén st eer QFTLeny arpdl Siman LwsTBmaT UL g wsh{(s.

Write the syntax and the purposes of switch statement.
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31. wwant aaTUNES QRUDRDEET - GHILY cwrs.

Write a note on User-delined functions,

32. Qrilgpep Hésd eanpre) erera ? eupmier Heeaperml L igwWS{HS.

What arc ethical issues ? List some of them,

33. for wLéms Aaran(® 1 1psd 10 sueny _aer srenmaeilan QETLT Sl L ey QausfludBid
C++ [y erpzs.

Write a C++ program to sum the numbers from 1 to 10 using for’ laop.

u@Sl - IV / PART - IV

GO0y : Senendsl NamasErsEn efmualésa)ib. 5x5=25

Note : Answer all the questions.

34. (=) sra| WHMWD saeume alleaTdEs.
S|60605)
(<=) ROM -6i1 suenssenarts UMM allenéawns er(pss.

(a) Explain Data and Information,
' OR
[b) Explain the types of ROM.

35. (&) eflanCLred Qués samwlfer vaeamswurer udlliusmer aleufésayb.

SO
(=) @ aramenflar cuirdas ppagens (Square Root) sanddHeughsrar Gpflipennamu
PSS,
(a) Explain the versions of windows operating system.

OR

(b)  Write the specification of an algorithm for computing the square root of a
number.

[ Slgplinys / Turn over
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36.

37,

(<) Yepsafldr cusmsamar elaufsab.
EAEVEME
() veaudl HevemAfiigg (Switch) dapenm Gr@ggljé5”|;®lrm ATEGS.
(a) Explain the types of errors.
OR
(b}  Explain multi-way branch statement (switch) with a suttahle;exasople.
(&) L édlen ugHamer aflorsss.
(a) Explain the parts of a Loop.
{60605/ OR
(<) Yemaumn Hirellen Geouafluic e T(1DGI%.
(b)  Find the output of following program.
#include<iostreams>
using namespace std;
int main( )
{
int num[10], even=0, odd=0;
for(int i=0; i<10; i++)
{
cout<<“\n Enter Number’<<i+1<<“=";
cin>>numli];
if(num][i]%2==0)
++even,;
clse
++odd;
}
cout<<"\n There are”<<even<<*Even Numbers”;

cout<<“\n There are”<<odd<<“Odd Numbecrs”;
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38. (<) C++ Ballguerar Ganysmer ey Smasd Qais.
(a) Debug, the following C++ program :
Qutput

%include(iostream.h)
#include<conio.h>
Class A

{

public;

int al,a2:a3;

Void getdata[ |

al=[5;
a2=13;a3=13;

3

h

Class B :: public A{ )

{

' PUBLIC

voidfunc( }

int h1:b2:b3;

A:getdalal ]

bl=al;

b2=a2;

ad=a3; .

cout<<hl<<’\t’<<h2<<’t\'<<h3;
'}

void main( )

IR
clrser( )
B der;
derl:func( );
getch( );
;

S|6va0g /OR

(<) Qummsear ConéE FransssE b bsamer apsis.
(b) Explain the advantages of object oriented programming.
-00o0-



